FILE COPY

### College Station, TX 77843-1477

### PURCHASE ORDER

Page:

Order Date: 11/15/2016

01

INCLUDE P.O. NUMBER ON ALL CORRESPONDENCE AND PACKAGES

P700032

VENDOR GUARANTEES MERCHANDISE DELIVERED ON THIS ORDER WILL MEET OR EXCEED SPECIFICATIONS IN THE BID INVITATION.

ALL TERMS AND CONDITIONS SET FORTH IN THE BID INVIATION BECOME A PART OF THIS ORDER.

Vendor:

T0000171500 S T M MIDDLE EAST LLC SUITE NO: 212 AL QIYADAH BUILDING NEXT TO GALADARI MAZDA SHOR RM DUBAI UNITED ARAB EMIRATES

Invoice To: TEXAS A&M UNIVERSITY TEXAS A&M UNIVERSITY @ QATAR C/O QATAR FOUNDATION EDUCATION CITY
P. O. BOX 23874 DOHA 00000 Ship To:

TEXAS A&M UNIVERSITY TEXAS A&M UNIVERSITY AT QATAR C/O QATAR FOUNDATION EDUCATION CITY DOHA, QATAR 00000 QATAR

ANY EXCEPTIONS TO PRICING OR DESCRIPTION CONTAINED HEREIN MUST BE APPROVED BY THE TEXAS A&M DEPARTMENT OF PROCUREMENT SERVICES PRIOR TO SHIPPING.

PLEASE NOTE: IF YOUR INVOICE IS NOT ADDRESSED AS INSTRUCTED PAYMENT WILL BE DELAYED.

ITEM	DESCRIPTION	OUANTITY	UOM	UNIT PRICE	EXTENDED PRICE
-	USER REF: 000000-MC				
	** CONFIRMING ORDER ** DO NOT DUPLICATE **  ** FOR PAYMENT & ENCUMBRANCE PURPOSES ONLY **  ** PER MASTER AGREEMENT # M700013 **	-			.*
	PR 4312; PR 4326; PR 4327; PR 4333; PR 4347; PR 4348				
1	ELECTRIC CIRCUITS Course: ECEN 214 ISBN: 9781292060545 AUTHOR: NILLSON, REIDEL PUBLISHER: PEARSON	40	EA	88.200	3,528.00
2	ELECTRICAL ENGINEERING Course: ECEN 215 ISBN: 9780273793250 AUTHOR: HAMBLEY PUBLISHER: PEARSON	20	EA	92.610	1,852.20
3	DIGITAL CONTROL SYSTEM ANALYSIS AND DESIGN Course: ECEN 421 ISBN: 9781292061221 AUTHOR: CHARLES PHILLIPS, H. TROY NAGLE , AND ARANYA CHAKRABORTTY PUBLISHER: PEARSON	7	EA	104.730	733.11
4	MECHANICAL MEASUREMENTS Course: MEEN 260 ISBN: 9780201847659 AUTHOR: BECKWITH, MARANGONI, LIENHARD PUBLISHER: PEARSON	30	EA	259.440	7,783.20
5	FEEDBACK CONTROL OF DYNAMIC SYSTEMS Course: MEEN 364	28	EA	98.120	2,747.36
PAW					

FOB: NOT SPECIFIED

Texas A&M University cannot accept collect freight shipments.

FAILURE TO DELIVER – If the vendor fails to deliver these supplies by the promised delivery date or a reasonable time thereafter, without giving acceptable reasons for delay, or if supplies are rejected for failure to meet specifications, the State reserves the right to purchase specified supplies elsewhere, and charge the increase in price and cost of handling, if any, to the vendor. No substitutions or cancellations permitted without prior approval of the Texas A&M Department of Procurement Services.

The State of Texas is exempt from all Federal Excise Taxes.

STATE AND CITY SALES TAX EXEMPTION CERTIFICATE: The undersigned claims an exemption from taxes under Chapter 20, Title 122A, Revised Civil Statutes of Texas, for purchase of tangible personal property described in this numbered order, purchased from contractor and/or shipper listed above, as this property is being secured for the exclusive use of the State of Texas. Terms:

IN ACCORDANCE WITH YOUR BID, SUPPLIES/EQUIPMENT MUST BE PLACED IN THE DEPARTMENT RECEIVING ROOM BY:

not valid unless signed by the Purchasing Agent. /This

> S A&M UNIVERSITY hone: 979-845-4570

FILE COPY

College Station, TX 77843-1477

#### **PURCHASE ORDER**

11/15/2016 Page: 02

Order Date:

INCLUDE P.O. NUMBER ON ALL CORRESPONDENCE AND PACKAGES

P700032

VENDOR GUARANTEES MERCHANDISE DELIVERED ON THIS ORDER WILL MEET OR EXCEED SPECIFICATIONS IN THE BID INVITATION.

ALL TERMS AND CONDITIONS SET FORTH IN THE BID INVIATION BECOME A PART OF THIS ORDER.

Vendor:

T0000171500 S T M MIDDLE EAST LLC SUITE NO: 212 AL QIYADAH BUILDING NEXT TO GALADARI MAZDA SHOR RM DUBAI UNITED ARAB EMIRATES

ANY EXCEPTIONS TO PRICING OR DESCRIPTION CONTAINED HEREIN MUST BE APPROVED BY THE TEXAS A&M DEPARTMENT OF PROCUREMENT SERVICES <u>PRIOR</u> TO SHIPPING.

Invoice To:

TEXAS A&M UNIVERSITY
TEXAS A&M UNIVERSITY @ QATAR
C/O QATAR FOUNDATION
EDUCATION CITY
P. O. BOX 23874

Ship To:

DOHA 00000

TEXAS A&M UNIVERSITY
TEXAS A&M UNIVERSITY AT QATAR
C/O QATAR FOUNDATION
EDUCATION CITY
DOHA, QATAR 00000
QATAR

PLEASE NOTE: IF YOUR INVOICE IS NOT ADDRESSED AS INSTRUCTED PAYMENT WILL BE DELAYED.

ITEM	DESCRIPTION	QUANTITY	UOM	UNIT PRICE	EXTENDED PRICE
	ISBN: 9781292068909 AUTHOR: GENE FRANKLIN , J.D. POWELL , ABBAS EMAMI-NAEINI PUBLISHER: PRENTICE HALL			,	
6	PHYSICAL GEOLOGY Course: GEOL 104 ISBN: 9780078096105 AUTHOR: PLUMMER ET AL PUBLISHER: MCGRAW HILL	5	EA	185.000	925.00
7	APPLIED PETROLEUM RESERVOIR ENGINEERING Course: PETE 323 ISBN: 9780133155587 AUTHOR: TERRY PUBLISHER: PRENTICE HALL	30	EA	162.750	4,882.50
8	A LITTLE ARGUMENT Course: ENGL 104 ISBN: 9780321852762 AUTHOR: LESTER FAIGLEY AND JACK SELZER PUBLISHER: PEARSON	21	EA	23.070	484.47
<b>9</b>	POLITICS IN STATES AND COMMUNITIES Course: POLS 207 ISBN: 9780205994724 AUTHOR: THOMAS R. DYE, SUSAN A. MACMANUS PUBLISHER: PEARSON	50	EA	130.000	6,500.00
10	GENERAL CHEMISTRY PRINCIPLES AND MODERN APPLICATIONS (1 OF 2) Course: CHEM 102 ISBN: 9780134097329 AUTHOR: PETRUCCI, HERRING, MADURA, BISSONNETTE PUBLISHER: PEARSON PRENTICE HALL	90	EA	160.000	14,400.00
PAW					

FOB: NOT SPECIFIED

Γexas A&M University cannot accept collect freight shipments.

FAILURE TO DELIVER – If the vendor fails to deliver these supplies by the promised delivery date or a reasonable time thereafter, without giving acceptable reasons for delay, or if supplies are rejected for failure to meet specifications, the State reserves the right to purchase specified supplies elsewhere, and charge the increase in price and cost of handling, if any, to the vendor. No substitutions or cancellations permitted without prior approval of the Texas A&M Department of Procurement

The State of Texas is exempt from all Federal Excise Taxes.

STATE AND CITY SALES TAX EXEMPTION CERTIFICATE: The undersigned claims an exemption from taxes under Chapter 20, Title 122A, Revised Civil Statutes of Texas, for purchase of tangible personal property described in this numbered order, purchased from contractor and/or shipper listed above, as this property is being secured for the exclusive use of the State of Texas.

Terms:

N 30

IN ACCORDANCE WITH YOUR BID, SUPPLIES/EQUIPMENT MUST BE PLACED IN THE DEPARTMENT RECEIVING ROOM BY:

This Order is not valid unless signed by the Purchasing Agent.

FILE COPY

College Station, TX 77843-1477

#### PURCHASE ORDER

Invoice To:

Ship To:

TEXAS A&M UNIVERSITY

C/O QATAR FOUNDATION EDUCATION CITY P. O. BOX 23874 DOHA 00000

TEXAS A&M UNIVERSITY

C/O QATAR FOUNDATION

EDUCATION CITY

TEXAS A&M UNIVERSITY @ QATAR

Order Date: 11/15/2016

03 Page:

INCLUDE P.O. NUMBER ON ALL CORRESPONDENCE AND PACKAGES

P700032

VENDOR GUARANTEES MERCHANDISE DELIVERED ON THIS ORDER WILL MEET OR EXCEED SPECIFICATIONS IN THE BID

ALL TERMS AND CONDITIONS SET FORTH IN THE BID INVIATION BECOME A PART OF THIS ORDER.

Vendor:

T0000171500 S T M MIDDLE EAST LLC SUITE NO: 212 AL QIYADAH BUILDING NEXT TO GALADARI MAZDA SHOR RM DUBAI UNITED ARAB EMIRATES

DOHA, QATAR 00000 **QATAR** 

TEXAS A&M UNIVERSITY AT QATAR

ANY EXCEPTIONS TO PRICING OR DESCRIPTION CONTAINED HEREIN MUST BE APPROVED BY THE TEXAS A&M DEPARTMENT OF PROCUREMENT SERVICES PRIOR PLEASE NOTE: IF YOUR INVOICE IS NOT ADDRESSED AS INSTRUCTED PAYMENT WILL BE DELAYED.

ITEM	DESCRIPTION	QUANTITY	UOM	UNIT PRICE	EXTENDED PRICE
11	SELECTED SOLUTIONS MANUAL GENERAL CHEMISTRY (2 OF 2) Course: CHEM 102 ISBN: 9780133387902 AUTHOR: PETRUCCI, HERRING, MADURA, BISSONNETTE PUBLISHER: PEARSON PRENTICE HALL	90	EA	73.000	6,570.00
12	MOLECULAR MODEL SET FOR ORGANIC CHEMISTRY (3 OF 3) Course: CHEM 228 ISBN: 9780132019866 PUBLISHER: PRENTICE HALL	20	EA	24.800	496.00
13	MATH 311 LINEAR ALGEBRA AND VECTOR CALCULUS (AT TEXAS A&M UNIVERSITY) COURSE: MATH 311 ISBN: 9781256983699 AUTHOR: S. LEON AND S. COLLEY PUBLISHER: PEARSON	35	EA	141.970	4,968.95
14	PROBABILITY AND STATISTICS FOR ENGINEERS AND SCIENTISTS COURSE: ECEN 303 ISBN: 978-0134115856 AUTHOR: RONALD E. WALPOLE PUBLISHER: PEARSON	36	EA	195.000	7,020.00
15	BIOPROCESS ENGINEERING: BASIC CONCEPTS COURSE: CHEN 382 ISBN: 978-0130819086 AUTHOR: MICHAEL L. SHULER, FIKRET KARGI, MATTHEW DELISA PUBLISHER: PRENTICE HALL	30	EA	138.000	4,140.00
16	ELEMENTS OF CHEMICAL REACTION ENGINEERING Course: CHEN 624	25	EA	75.000	1,875.00
PAW					

FOB: NOT SPECIFIED

Γexas A&M University cannot accept collect freight shipments.

FAILURE TO DELIVER - If the vendor fails to deliver these supplies by the promised delivery date or a reasonable time thereafter, without giving acceptable reasons for delay, or if supplies are rejected for failure to meet specifications, the State reserves the right to purchase specified supplies elsewhere, and charge the increase in price and cost of handling, if any, to the vendor. No substitutions or cancellations permitted without prior approval of the Texas A&M Department of Procurement

The State of Texas is exempt from all Federal Excise Taxes.

STATE AND CITY SALES TAX EXEMPTION CERTIFICATE: The undersigned claims an exemption from taxes under Chapter 20, Title 122A, Revised Civil Statutes of Texas, for purchase of tangible personal property described in this numbered order, purchased from contractor and/or shipper listed above, as this property is being secured for the exclusive use of the State of Texas. Terms:

30 Ν

IN ACCORDANCE WITH YOUR BID, SUPPLIES/EQUIPMENT MUST BE PLACED IN THE DEPARTMENT RECEIVING ROOM BY:

This Order is not valid unless signed by the Purchasing Agent.

FILE COPY

College Station, TX 77843-1477 PURCHASE ORDER

Order Date: 11/15/2016

Page:

INCLUDE P.O. NUMBER ON ALL CORRESPONDENCE AND PACKAGES

P700032

VENDOR GUARANTEES MERCHANDISE DELIVERED ON THIS ORDER WILL MEET OR EXCEED SPECIFICATIONS IN THE BID

ALL TERMS AND CONDITIONS SET FORTH IN THE BID INVIATION BECOME A PART OF THIS ORDER.

Vendor:

T0000171500 S T M MIDDLE EAST LLC SUITE NO: 212 AL QIYADAH BUILDING NEXT TO GALADARI MAZDA SHOR RM DUBAI

UNITED ARAB EMIRATES

Invoice To: TEXAS A&M UNIVERSITY TEXAS A&M UNIVERSITY @ QATAR C/O OATAR FOUNDATION EDUCATION CITY P. O. BOX 23874 DOHA 00000

Ship To:

TEXAS A&M UNIVERSITY TEXAS A&M UNIVERSITY AT QATAR C/O QATAR FOUNDATION EDUCATION CITY DOHA, QATAR 00000 **QATAR** 

ANY EXCEPTIONS TO PRICING OR DESCRIPTION CONTAINED HEREIN MUST BE APPROVED BY THE TEXAS A&M DEPARTMENT OF PROCUREMENT SERVICES **PRIOR** 

PLEASE NOTE: IF YOUR INVOICE IS NOT ADDRESSED AS INSTRUCTED PAYMENT WILL BE DELAYED.

ITEM	DESCRIPTION	QUANTITY	UOM	UNIT PRICE	EXTENDED PRICE
	ISBN: 9781292026169 AUTHOR: H. S. FOGLER, PUBLISHER: PRENTICE HALL				
17	A WORLD OF FICTION 1: TIMELESS SHORT STORIES Course: STLC 289 ISBN: 9780133046168 AUTHOR: SYBIL MARCUS AND DANIEL BERMAN PUBLISHER: PEARSON EDUCATION ESL	25	EA	44.000	1,100.00
18	DYNAMICS IN ENGINEERING PRACTICE Course: MEEN 363 ISBN: 9781482250251 AUTHOR: R. C. HIBBLER & KAI BENG YAP PUBLISHER: T&F	20	EA	126.790	2,535.80
19	MECHANICS FOR ENGINEERS; STATICS (1 OF 2) Course: MEEN 221 ISBN: 9781292089232 AUTHOR: HIBBELER PUBLISHER: PEARSON	40	EA	95.000	3,800.00
20	MECHANICS FOR ENGINEERS; DYNAMIC (1 OF 2) Course: MEEN 221 ISBN: 9781292088723 AUTHOR: HIBBELER PUBLISHER: PEARSON	40	EA	85.000	3,400.00
21	DIVERSITY CONSCIOUSNESS: OPENING OUR MINDS TO PEOPLE, CULTURES & OPPORTUNITY (2015) Course: INST 222 ISBN: 9780321919069 AUTHOR: RICHARD BUCHER PUBLISHER: PEARSON	50	EA	60.000	3,000.00
22	POCLECT GUIDE TO TECHNICAL COMMUNICATIONS	20	EA	49.060	981.20
PAW					

FOB: NOT SPECIFIED

Texas A&M University cannot accept collect freight shipments.

FAILURE TO DELIVER - If the vendor fails to deliver these supplies by the promised delivery date or a reasonable time thereafter, without giving acceptable reasons for delay, or if supplies are rejected for failure to meet specifications, the State reserves the right to purchase specified supplies elsewhere, and charge the increase in price and cost of handling, if any, to the vendor. No substitutions or cancellations permitted without prior approval of the Texas A&M Department of Procurement

The State of Texas is exempt from all Federal Excise Taxes.

STATE AND CITY SALES TAX EXEMPTION CERTIFICATE: The undersigned claims an exemption from taxes under Chapter 20, Title 122A, Revised Civil Statutes of Texas, for purchase of tangible personal property described in this numbered order, purchased from contractor and/or shipper listed above, as this property is being secured for the exclusive use of the State of Texas. Terms:

IN ACCORDANCE WITH YOUR BID, SUPPLIES/EQUIPMENT MUST BE PLACED IN THE DEPARTMENT RECEIVING ROOM BY:

This Order is not valid unless signed by the Purchasing Agent.

FILE COPY

#### College Station, TX 77843-1477 PURCHASE ORDER

11/15/2016 Page:

05

Order Date:

INCLUDE P.O. NUMBER ON ALL CORRESPONDENCE AND PACKAGES

P700032

VENDOR GUARANTEES MERCHANDISE DELIVERED ON THIS ORDER WILL MEET OR EXCEED SPECIFICATIONS IN THE BID INVITATION.

Vendor:

T0000171500 S T M MIDDLE EAST LLC SUITE NO: 212 AL QIYADAH BUILDING NEXT TO GALADARI MAZDA SHOR RM DUBAI UNITED ARAB EMIRATES

Invoice To:

ALL TERMS AND CONDITIONS SET FORTH IN THE BID INVIATION BECOME A PART OF THIS ORDER.

TEXAS A&M UNIVERSITY TEXAS A&M UNIVERSITY @ QATAR C/O OATAR FOUNDATION EDUCATION CITY P. O. BOX 23874 DOHA 00000 Ship To: TEXAS A&M UNIVERSITY TEXAS A&M UNIVERSITY AT QATAR C/O QATAR FOUNDATION EDUCATION CITY DOHA, QATAR 00000

ANY EXCEPTIONS TO PRICING OR DESCRIPTION CONTAINED HEREIN MUST BE APPROVED BY THE TEXAS A&M DEPARTMENT OF PROCUREMENT SERVICES **PRIOR** 

PLEASE NOTE: IF YOUR INVOICE IS NOT ADDRESSED AS INSTRUCTED PAYMENT WILL BE DELAYED.

**QATAR** 

ITEM	DESCRIPTION	QUANTITY	UOM	UNIT PRICE	EXTENDED PRICE
	Course: MEEN 381 ISBN: 9780135063965 AUTHOR: PFEIFFER PUBLISHER: PEARSON				
23	ELECTRIC MACHINERY FUNDAMENTALS Course: ECEN 338 ISBN: 9780071086172 AUTHOR: STEPHEN J. CHAPMAN PUBLISHER: MCGRAW HILL	20	EA	76.810	1,536.20
24	THE HARDWARE/SOFTWARE INTERFACE (THE MORGAN KAUFMANN SERIES IN COMPUTER ARCHITECTURE AND DESIGN) Course: ECEN 350 ISBN: 9780124077263 PUBLISHER: MORGAN KAUFMANN	28	EA	88.200	2,469.60
25	ELECTRICAL PROPERTIES OF MATERIALS Course: ECEN 370 ISBN: 9780198702788 AUTHOR: L. SOLYMAR, D. WALSH PUBLISHER: OUP	15	EA	55.060	825.90
26	THE ENGINEERING CAPSTONE COURSE: FUNDAMENTALS FOR STUDENTS AND INSTRUCTORS COURSE: ECEN 403 ISBN: 9783319058962 AUTHOR: HOFFMAN F. PUBLISHER: SPRINGER	1	EA	78.500	78.50
27	DESIGNING AND TEACHING UNDERGRADUATE CAPSTONE COURSES Course: ECEN 403 ISBN: 9781118761878 AUTHOR: ROBERT C. HAUHART	1	EA	38.000	38.00
PAW					

FOB: NOT SPECIFIED

Texas A&M University cannot accept collect freight shipments.

FAILURE TO DELIVER - If the vendor fails to deliver these supplies by the promised delivery date or a reasonable time thereafter, without giving acceptable reasons for delay, or if supplies are rejected for failure to meet specifications, the State reserves the right to purchase specified supplies elsewhere, and charge the increase in price and cost of handling, if any, to the vendor. No substitutions or cancellations permitted without prior approval of the Texas A&M Department of Procurement

The State of Texas is exempt from all Federal Excise Taxes.

STATE AND CITY SALES TAX EXEMPTION CERTIFICATE: The undersigned claims an exemption from taxes under Chapter 20, Title 122A, Revised Civil Statutes of Texas, for purchase of tangible personal property described in this numbered order, purchased from contractor and/or shipper listed above, as this property is being secured for the exclusive use of the State of Texas. Terms:

30 Ν

IN ACCORDANCE WITH YOUR BID, SUPPLIES/EQUIPMENT MUST BE PLACED IN THE DEPARTMENT RECEIVING ROOM BY:

This Order is not valid unless signed by the Purchasing Agent.

FILE COPY

College Station, TX 77843-1477

PURCHASE ORDER

Order Date: 11/15/2016

06 Page:

INCLUDE P.O. NUMBER ON ALL CORRESPONDENCE AND PACKAGES

P700032

VENDOR GUARANTEES MERCHANDISE DELIVERED ON THIS ORDER WILL MEET OR EXCEED SPECIFICATIONS IN THE BID INVITATION.

ALL TERMS AND CONDITIONS SET FORTH IN THE BID INVIATION BECOME A PART OF THIS ORDER.

Vendor:

T0000171500 S T M MIDDLE EAST LLC SUITE NO: 212 AL QIYADAH BUILDING NEXT TO GALADARI MAZDA SHOR RM DUBAI UNITED ARAB EMIRATES

Invoice To:

TEXAS A&M UNIVERSITY TEXAS A&M UNIVERSITY @ QATAR C/O OATAR FOUNDATION EDUCATION CITY P. O. BOX 23874 DOHA 00000

Ship To:

TEXAS A&M UNIVERSITY TEXAS A&M UNIVERSITY AT QATAR C/O QATAR FOUNDATION EDUCATION CITY DOHA, QATAR 00000 QATAR

ANY EXCEPTIONS TO PRICING OR DESCRIPTION CONTAINED HEREIN MUST BE APPROVED BY THE TEXAS A&M DEPARTMENT OF PROCUREMENT SERVICES **PRIOR** 

PLEASE NOTE: IF YOUR INVOICE IS NOT ADDRESSED AS INSTRUCTED PAYMENT WILL BE DELAYED.

					Parties Aller St. Company of the Company of the Parties of the Par
ITEM	DESCRIPTION	QUANTITY	UOM	UNIT PRICE	EXTENDED PRICE
	PUBLISHER: JOSSEY-BASS				
28	EMBEDDED SYSTEMS DESIGN WITH PLATFORM FPGAS: PRINCIPLES AND PRACTICES Course: ECEN 449 ISBN: 9780123743336 AUTHOR: RONALD SASS AND ANDREW G. SCHMIDT PUBLISHER: ELSIEVER	15	EA	93.760	1,406.40
29	WIRELESS COMMUNICATIONS Course: ECEN 478 ISBN: 9780521837163 AUTHOR: ANDREA GOLDSMITH PUBLISHER: CAMBRIDGE UNIVERSITY PRESS	20	EA	83.790	1,675.80
30	INTRODUCTION TO CHEMICAL ENGINEERING THERMODYNAMICS COURSE: CHEN 205 ISBN: 9780071247085 AUTHOR: J.M. SMITH, H.C. VAN NESS M.M. ABBOTT PUBLISHER: MCGRAW-HILL	12	EA	82.680	992.16
31	FLUID MECHANICS FOR CHEMICAL ENGINEERS Course: CHEN 304 ISBN: 9780071238243 AUTHOR: NOEL DE NEVERS PUBLISHER: MCGRAW-HILL	12	EA	85.000	1,020.00
32	PRINCIPLES OF HEAT AND MASS TRANSFER Course: CHEN 323 ISBN: 9780470646151 AUTHOR: FRANK INCROPERA, DAVID DEWITT, THEODORE LERGMAN, ADRIENNE KAVINE PUBLISHER: WILEY	20	EA	307.600	6,152.00
PAW					

FOB: NOT SPECIFIED

Texas A&M University cannot accept collect freight shipments.

FAILURE TO DELIVER - If the vendor fails to deliver these supplies by the promised delivery date or a reasonable time thereafter, without giving acceptable reasons for delay, or if supplies are rejected for failure to meet specifications, the State reserves the right to purchase specified supplies elsewhere, and charge the increase in price and cost of handling, if any, to the vendor. No substitutions or cancellations permitted without prior approval of the Texas A&M Department of Procurement

The State of Texas is exempt from all Federal Excise Taxes.

Chapter 20, Title 122A, Revised Civil Statutes of Texas, for purchase of tangible personal property described in this numbered order, purchased from contractor and/or shipper listed above, as this property is being secured for the exclusive use of the State of Texas. STATE AND CITY SALES TAX EXEMPTION CERTIFICATE: The undersigned claims an exemption from taxes under

Terms:

IN ACCORDANCE WITH YOUR BID, SUPPLIES/EQUIPMENT MUST BE PLACED IN THE DEPARTMENT RECEIVING ROOM BY:

This Order is not valid unless signed by the Purchasing Agent.

FILE COPY

# College Station, TX 77843-1477 PURCHASE ORDER

Dagas

Order Date: 11/15/2016

Page: 07

INCLUDE P.O. NUMBER ON ALL CORRESPONDENCE AND PACKAGES

P700032

VENDOR GUARANTEES MERCHANDISE DELIVERED ON THIS ORDER WILL MEET OR EXCEED SPECIFICATIONS IN THE BID INVITATION.

ALL TERMS AND CONDITIONS SET FORTH IN THE BID INVIATION BECOME A PART OF THIS ORDER.

Vendor:

T0000171500 S T M MIDDLE EAST LLC SUITE NO: 212 AL QIYADAH BUILDING NEXT TO GALADARI MAZDA SHOR RM DUBAI UNITED ARAB EMIRATES

ANY EXCEPTIONS TO PRICING OR DESCRIPTION CONTAINED HEREIN MUST BE APPROVED BY THE TEXAS A&M DEPARTMENT OF PROCUREMENT SERVICES <u>PRIOR</u>

Invoice To:

TEXAS A&M UNIVERSITY
TEXAS A&M UNIVERSITY @ QATAR
C/O QATAR FOUNDATION
EDUCATION CITY
P. O. BOX 23874

DOHA 00000

Ship To:

TEXAS A&M UNIVERSITY
TEXAS A&M UNIVERSITY AT QATAR
C/O QATAR FOUNDATION
EDUCATION CITY
DOHA, QATAR 00000
QATAR

PLEASE NOTE: IF YOUR INVOICE IS NOT ADDRESSED AS INSTRUCTED PAYMENT WILL BE DELAYED.

I what I'v	DECOMPTION.	OUANTITY	UOM	UNIT PRICE	EXTENDED PRICE
33	DESCRIPTION BIOPROCESS ENGINEERING PRINCIPLES Course: CHEN 382 ISBN: 9780122208515 AUTHOR: PAULINE DORAN PUBLISHER: ACADEMIC PRESS	23	EA	125.130	2,877.99
34	CHEMICAL ENGINEERING DESIGN Course: CHEN 426 ISBN: 9780080966595 AUTHOR: GAVIN TOWLER AND RAY SINNOTT PUBLISHER: ELSEVIER	25	EA	132.300	3,307.50
35	INTRODUCTION TO ENVIRONMENTAL ENGINEERING (1 of 3) Course: CHEN 457 ISBN: 9780071326247 AUTHOR: DAVIS, CORNWELL PUBLISHER: MCGRAW-HILL	5	EA	77.170	385.85
36	HAZARDOUS WASTE MANAGEMENT (2 OF 3) Course: CHEN 457 ISBN: 9781577666936 AUTHOR: MICHAEL D. LAGREGA, PHILLIP L. BUCKINGHAM, JEFFREY C. EVANS PUBLISHER: WAVELAND	5	EA	131.190	655.95
37	WASTEWATER ENGINEERING: TREATMENT AND REUSE (3 OF 3) Course: CHEN 457 ISBN: 9781259010798 AUTHOR: METCALF & EDDY PUBLISHER: MCGRAW-HILL	5	EA	73.870	369.35
38	PROCESS DYNAMIC AND CONTROL Course: CHEN 461 ISBN: 9780470646106	27	EA	270.110	7,292.97
PAW					

FOB: NOT SPECIFIED

Texas A&M University cannot accept collect freight shipments.

FAILURE TO DELIVER – If the vendor fails to deliver these supplies by the promised delivery date or a reasonable time thereafter, without giving acceptable reasons for delay, or if supplies are rejected for failure to meet specifications, the State reserves the right to purchase specified supplies elsewhere, and charge the increase in price and cost of handling, if any, to the vendor. No substitutions or cancellations permitted without prior approval of the Texas A&M Department of Procurement

The State of Texas is exempt from all Federal Excise Taxes.

STATE AND CITY SALES TAX EXEMPTION CERTIFICATE: The undersigned claims an exemption from taxes under Chapter 20, Title 122A, Revised Civil Statutes of Texas, for purchase of tangible personal property described in this numbered order, purchased from contractor and/or shipper listed above, as this property is being secured for the exclusive use of the State of Texas.

Terms:

N 30

IN ACCORDANCE WITH YOUR BID, SUPPLIES/EQUIPMENT MUST BE PLACED IN THE DEPARTMENT RECEIVING ROOM BY:

This Order is not valid unless signed by the Purchasing Agent.

FILE COPY

### College Station, TX 77843-1477

### **PURCHASE ORDER**

Order Date: 11/15/2016

08 Page:

INCLUDE P.O. NUMBER ON ALL CORRESPONDENCE AND PACKAGES

P700032

VENDOR GUARANTEES MERCHANDISE DELIVERED ON THIS ORDER WILL MEET OR EXCEED SPECIFICATIONS IN THE BID

ALL TERMS AND CONDITIONS SET FORTH IN THE BID INVIATION BECOME A PART OF THIS ORDER.

Vendor:

T0000171500 S T M MIDDLE EAST LLC SUITE NO: 212 AL QIYADAH BUILDING NEXT TO GALADARI MAZDA SHOR RM DUBAI UNITED ARAB EMIRATES

Invoice To:

TEXAS A&M UNIVERSITY TEXAS A&M UNIVERSITY @ QATAR C/O QATAR FOUNDATION EDUCATION CITY P. O. BOX 23874

Ship To:

DOHA 00000

TEXAS A&M UNIVERSITY TEXAS A&M UNIVERSITY AT QATAR C/O QATAR FOUNDATION EDUCATION CITY DOHA, QATAR 00000 QATAR

ANY EXCEPTIONS TO PRICING OR DESCRIPTION CONTAINED HEREIN MUST BE APPROVED BY THE TEXAS A&M DEPARTMENT OF PROCUREMENT SERVICES PRIOR PLEASE NOTE: IF YOUR INVOICE IS NOT ADDRESSED AS INSTRUCTED PAYMENT WILL BE DELAYED.

ITEM	DESCRIPTION	QUANTITY	UOM	UNIT PRICE	EXTENDED PRICE
	AUTHOR: DALE SEBORG, THOMAS EDGAR, DUNCAN MELLICHAMP, FRANCIS DOYLE III PUBLISHER: WILEY	, i	,		
39	ENGINEERING ECONOMIC ANALYSIS Course: ISEN 302 ISBN: 9780199339273 AUTHOR: DON NEWMAN, JEROME LAVELLE, AND TED ESCHENBACH PUBLISHER: OXFORD	5	EA	130.100	650.50
40	THERMODYNAMICS: AN ENGINEERING APPROACH- TAMU Course: MEEN 315 ISBN: 9789814595292 AUTHOR: YUNUS A. CENGEL, MICHAEL A. BOLES PUBLISHER: MCGRAW HILL	68	EA	85.000	5,780.00
41	SHIGLEY'S MECHANICAL ENGINEERING DESIGN Course: MEEN 368 ISBN: 9789814595285 AUTHOR: RICHARD G. BUDYNAS J. KEITH NISBETT PUBLISHER: MCGRAW HILL	20	EA	79.460	1,589.20
42	THE CRAFT OF SCIENTIFIC WRITING Course: MEEN 381 ISBN: 9780387947662 AUTHOR: MICHAEL ALLEY PUBLISHER: SPRINGER	30	EA	39.500	1,185.00
43	SERVICE LEARNING Course: MEEN 402 ISBN: 9780199922048 AUTHOR: LIMA AND OAKES PUBLISHER: OXFORD UNIVERSITY PRESS	10	EA	46.850	468.50
44	FLUID MECHANICS AND THERMODYNAMICS OF	20	EA	86.630	1,732.60
PAW					

FOB: NOT SPECIFIED

Texas A&M University cannot accept collect freight shipments.

FAILURE TO DELIVER - If the vendor fails to deliver these supplies by the promised delivery date or a reasonable time thereafter, without giving acceptable reasons for delay, or if supplies are rejected for failure to meet specifications, the State reserves the right to purchase specified supplies elsewhere, and charge the increase in price and cost of handling, if any, to the vendor. No substitutions or cancellations permitted without prior approval of the Texas A&M Department of Procurement

The State of Texas is exempt from all Federal Excise Taxes.

STATE AND CITY SALES TAX EXEMPTION CERTIFICATE: The undersigned claims an exemption from taxes under Chapter 20, Title 122A, Revised Civil Statutes of Texas, for purchase of tangible personal property described in this numbered order, purchased from contractor and/or shipper listed above, as this property is being secured for the exclusive use of the State of Texas. Terms:

Ν 30

IN ACCORDANCE WITH YOUR BID, SUPPLIES/EQUIPMENT MUST BE PLACED IN THE DEPARTMENT RECEIVING ROOM BY:

This Order is not valid unless signed by the Purchasing Agent.

FILE COPY

### College Station, TX 77843-1477

### PURCHASE ORDER

11/15/2016

Order Date:

@ QATAR

Page:

INCLUDE P.O. NUMBER ON ALL CORRESPONDENCE AND PACKAGES

P700032

VENDOR GUARANTEES MERCHANDISE DELIVERED ON THIS ORDER WILL MEET OR EXCEED SPECIFICATIONS IN THE BID

Vendor:

T0000171500 S T M MIDDLE EAST LLC SUITE NO: 212 AL QIYADAH BUILDING NEXT TO GALADARI MAZDA SHOR RM DUBAI UNITED ARAB EMIRATES

ALL TERMS AND CONDITIONS SET FORTH IN THE BID INVIATION BECOME A PART OF THIS ORDER.

TEXAS A&M UNIVERSITY TEXAS A&M UNIVERSITY AT QATAR C/O QATAR FOUNDATION EDUCATION CITY DOHA, QATAR 00000

TEXAS A&M UNIVERSITY TEXAS A&M UNIVERSITY

C/O QATAR FOUNDATION

EDUCATION CITY P. O. BOX 23874 DOHA 00000

**QATAR** 

Ship To:

Invoice To:

PLEASE NOTE: IF YOUR INVOICE IS NOT ADDRESSED AS INSTRUCTED PAYMENT WILL BE DELAYED.

ANY EXCEPTIONS TO PRICING OR DESCRIPTION CONTAINED HEREIN MUST BE APPROVED BY THE TEXAS A&M DEPARTMENT OF PROCUREMENT SERVICES PRIOR TO SHIPPING.

ITEM	DESCRIPTION	QUANTITY	UOM	UNIT PRICE	EXTENDED PRICE
	TURBOMACHINERY Course: MEEN 414 ISBN: 9780124159549 AUTHOR: S. DIXON AND C. HALL PUBLISHER: BH PUBLISHER, 2014				
45	FUNDAMENTALS OF HEAT AND MASS TRANSFER COURSE: MEEN 461 ISBN: 9780470646151 AUTHOR: THEODORE L. BERGMAN, ADRIENNE S. LAVINE, FRANK P. INCROPERA DAVID P. DEWITT PUBLISHER: WILEY	35	EA	307.600	10,766.00
46	MATERIALS SELECTION IN MECHANICAL DESIGN Course: MEEN 475 ISBN: 9780081005996 AUTHOR: MICHAEL F. ASHBY PUBLISHER: BUTTERWORTH-HEINEMANN	35	EA	90.000	3,150.00
47	SERVICE LEARNING Course: ENGR 112 ISBN: 9780199922048 AUTHOR: LIMA AND OAKES PUBLISHER: OXFORD UNIVERSITY PRESS	90	EA	46.850	4,216.50
48	A PRIMER OF OIL WELL DRILLING Course: PETE 225 ISBN: 9780886982270 AUTHOR: PAUL BOMMER PUBLISHER: THE UNIVERSITY OF TEXAS AT AUSTIN	10	EA	135.440	1,354.40
49	FUNDAMENTALS OF DRILLING ENGINEERING COURSE: PETE 225 ISBN: 9781555632076 AUTHOR: ROBERT F. MITCHELL, STEFAN Z. MISKA,	7	EA	188.520	1,319.64
PAW					

FOB: NOT SPECIFIED

Texas A&M University cannot accept collect freight shipments.

FAILURE TO DELIVER - If the vendor fails to deliver these supplies by the promised delivery date or a reasonable time thereafter, without giving acceptable reasons for delay, or if supplies are rejected for failure to meet specifications, the State reserves the right to purchase specified supplies elsewhere, and charge the increase in price and cost of handling, if any, to the vendor. No substitutions or cancellations permitted without prior approval of the Texas A&M Department of Procurement

The State of Texas is exempt from all Federal Excise Taxes.

STATE AND CITY SALES TAX EXEMPTION CERTIFICATE: The undersigned claims an exemption from taxes under Chapter 20, Title 122A, Revised Civil Statutes of Texas, for purchase of tangible personal property described in this numbered order, purchased from contractor and/or shipper listed above, as this property is being secured for the exclusive use of the State of Texas. Terms:

Ν 30

IN ACCORDANCE WITH YOUR BID, SUPPLIES/EQUIPMENT MUST BE PLACED IN THE DEPARTMENT RECEIVING ROOM BY:

This Order is not valid unless signed by the Purchasing Agent.

FILE COPY

## College Station, TX 77843-1477

### **PURCHASE ORDER**

11/15/2016 Page:

Order Date:

INCLUDE P.O. NUMBER ON ALL CORRESPONDENCE AND PACKAGES

P700032

VENDOR GUARANTEES MERCHANDISE DELIVERED ON THIS ORDER WILL MEET OR EXCEED SPECIFICATIONS IN THE BID INVITATION.

ALL TERMS AND CONDITIONS SET FORTH IN THE BID INVIATION BECOME A PART OF THIS ORDER.

Vendor:

T0000171500 S T M MIDDLE EAST LLC SUITE NO: 212 AL QIYADAH BUILDING NEXT TO GALADARI MAZDA SHOR RM DUBAI UNITED ARAB EMIRATES

Ship To:

TEXAS A&M UNIVERSITY TEXAS A&M UNIVERSITY AT QATAR C/O QATAR FOUNDATION EDUCATION CITY DOHA, QATAR 00000 QATAR

TEXAS A&M UNIVERSITY @ QATAR

Invoice To:

TEXAS A&M UNIVERSITY

C/O QATAR FOUNDATION

EDUCATION CITY P. O. BOX 23874 DOHA 00000

ANY EXCEPTIONS TO PRICING OR DESCRIPTION CONTAINED HEREIN MUST BE APPROVED BY THE TEXAS A&M DEPARTMENT OF PROCUREMENT SERVICES PRIOR TO SHIPPING.

PLEASE NOTE: IF YOUR INVOICE IS NOT ADDRESSED AS INSTRUCTED PAYMENT WILL BE DELAYED.

	DESCRIPTION	QUANTITY	UOM	UNIT PRICE	EXTENDED PRICE
ITEM	VASSILIOS C. KELESSIDIS, BERNT S. AADNOY, NEAL ADAMS, JOHN W. BARKER, J.C. CUNHA, ALFRED W. EUSTES III, ROSS L. KASTOR, ROBERTO MAGLIONE, EVREN OZBAYOGLU, JIM POWERS, RONALD SWEATMAN PUBLISHER: SOCIETY OF PETROLEUM ENGINEERS	Qommi			
50	OPENHOLE LOG ANALYSIS & FORMATION EVALUATION Course: PETE 321 ISBN: 9781613991565 AUTHOR: RICHARD M. BATEMAN PUBLISHER: SPE	27	EA	209.480	5,655.96
51	PRESSURE TRANSIENT TESTING: SPE TEXTBOOK SERI Course: PETE 324 ISBN: 9781555630997 AUTHOR: JOHN LEEN, JOHN B. ROLLINS AND JOHN B SPIVEY PUBLISHER: SOCIETY OF PETROLEUM ENGINEERS	15	EA	209.480	3,142.20
52	PETROLEUM PRODUCTION ENGINEERING: A COMPUTER-ASSISTED APPROACH, ELSEVIER Course: PETE 325 ISBN: 9780750682701 AUTHOR: B. GUO, W.C. LYONS AND A. GHALAMBOR. PUBLISHER: ELSEVIER	30	EA	115.760	3,472.80
53	SCIENCE RESEARCH WRITING FOR NON-NATIVE SPEAKERS OF ENGLISH: A GUIDE FOR NON-NATIVE SPEAKERS OF ENGLISH COURSE: PETE 336 ISBN: 9781848163102 AUTHOR: ICP PUBLISHER: IMPERIAL COLLEGE PRESS	34	EA	23.630	803.42
54 PAW	FUNDAMENTALS OF DRILLING ENGINEERING	25	EA	188.520	4,713.00
i					

FOB: NOT SPECIFIED

Texas A&M University cannot accept collect freight shipments.

FAILURE TO DELIVER – If the vendor fails to deliver these supplies by the promised delivery date or a reasonable time thereafter, without giving acceptable reasons for delay, or if supplies are rejected for failure to meet specifications, the State reserves the right to purchase specified supplies elsewhere, and charge the increase in price and cost of handling, if any, to the vendor. No substitutions or cancellations permitted without prior approval of the Texas A&M Department of Procurement

The State of Texas is exempt from all Federal Excise Taxes.

STATE AND CITY SALES TAX EXEMPTION CERTIFICATE: The undersigned claims an exemption from taxes under Chapter 20, Title 122A, Revised Civil Statutes of Texas, for purchase of tangible personal property described in this numbered order, purchased from contractor and/or shipper listed above, as this property is being secured for the exclusive use of the State of Texas. Terms:

Ν 3.0

IN ACCORDANCE WITH YOUR BID, SUPPLIES/EQUIPMENT MUST BE PLACED IN THE DEPARTMENT RECEIVING ROOM BY:

This Order is not valid unless signed by the Purchasing Agent.

FILE COPY

## College Station, TX 77843-1477

**PURCHASE ORDER** 

11/15/2016 Page:

Order Date:

INCLUDE P.O. NUMBER ON ALL CORRESPONDENCE AND PACKAGES

P700032

VENDOR GUARANTEES MERCHANDISE DELIVERED ON THIS ORDER WILL MEET OR EXCEED SPECIFICATIONS IN THE BID

ALL TERMS AND CONDITIONS SET FORTH IN THE BID INVIATION BECOME A PART OF THIS ORDER.

Vendor:

T0000171500 S T M MIDDLE EAST LLC SUITE NO: 212 AL QIYADAH BUILDING NEXT TO GALADARI MAZDA SHOR RM DUBAI UNITED ARAB EMIRATES

Invoice To: TEXAS A&M UNIVERSITY TEXAS A&M UNIVERSITY @ QATAR C/O QATAR FOUNDATION EDUCATION CITY P. O. BOX 23874 DOHA 00000 Ship To: TEXAS A&M UNIVERSITY TEXAS A&M UNIVERSITY AT QATAR C/O QATAR FOUNDATION EDUCATION CITY DOHA, QATAR 00000

ANY EXCEPTIONS TO PRICING OR DESCRIPTION CONTAINED HEREIN MUST BE APPROVED BY THE TEXAS A&M DEPARTMENT OF PROCUREMENT SERVICES PRIOR PLEASE NOTE: IF YOUR INVOICE IS NOT ADDRESSED AS INSTRUCTED PAYMENT WILL BE DELAYED.

QATAR

ITEM	DESCRIPTION	QUANTITY	UOM	UNIT PRICE	EXTENDED PRICE
	Course: PETE 355 ISBN: 9781555632076 AUTHOR: ROBERT F. MITCHELL, STEFAN Z. MISKA, VASSILIOS C. KELESSIDIS, BERNT S. AADNOY, NEAL ADAMS, JOHN W. BARKER, J.C. CUNHA, ALFRED W. EUSTES III, ROSS L. KASTOR, ROBERTO MAGLIONE, EVREN OZBAYOGLU, JIM POWERS, RONALD SWEATMAN PUBLISHER: SOCIETY OF PETROLEUM ENGINEERS				
55	ADVANCED RESERVOIR MANAGEMENT AND ENGINEERING Course: PETE 402 ISBN: 9780123855480 AUTHOR: TAREK H. AHMED, TAREK AHMED, D. NATHAN MEEHAN PUBLISHER: GULF PROFESSIONAL PUBLISHING	25	EA	136.500	3,412.50
56	HYDROCARBON EXPLORATION & PRODUCTION Course: PETE 489/689 ISBN: 9780444532367 AUTHOR: JAHN, F, COOK, M & GRAHAM, M PUBLISHER: ELSEVIER	8	EA	162.750	1,302.00
57	HYDROCARBON EXPLORATION & PRODUCTION Course: PETE 489/689 ISBN: 9780444532367 AUTHOR: JAHN, F, COOK, M & GRAHAM, M PUBLISHER: ELSEVIER	15	EA	162.750	2,441.25
58	THE RIVER READER Course: STLC 289 ISBN: 9781133310310 AUTHOR: JOSEPH TRIMMER PUBLISHER: WADSWORTH CENGAGE	8	EA	104.950	839.60
59	MISS PEREGRINE'S HOME FOR PECULIAR CHILDREN	2,0	EA	10.000	200.00
PAW					

FOB: NOT SPECIFIED

Texas A&M University cannot accept collect freight shipments.

FAILURE TO DELIVER - If the vendor fails to deliver these supplies by the promised delivery date or a reasonable time thereafter, without giving acceptable reasons for delay, or if supplies are rejected for failure to meet specifications, the State reserves the right to purchase specified supplies elsewhere, and charge the increase in price and cost of handling, if any, to the vendor. No substitutions or cancellations permitted without prior approval of the Texas A&M Department of Procurement

The State of Texas is exempt from all Federal Excise Taxes.

STATE AND CITY SALES TAX EXEMPTION CERTIFICATE: The undersigned claims an exemption from taxes under Chapter 20, Title 122A, Revised Civil Statutes of Texas, for purchase of tangible personal property described in this numbered order, purchased from contractor and/or shipper listed above, as this property is being secured for the exclusive use of the State of Texas. Terms:

N 30

IN ACCORDANCE WITH YOUR BID, SUPPLIES/EQUIPMENT MUST BE PLACED IN THE DEPARTMENT RECEIVING ROOM BY:

This Order is not valid unless signed by the Purchasing Agent.

FILE COPY

#### College Station, TX 77843-1477 PURCHASE ORDER

Order Date: 11/15/2016

Page:

INCLUDE P.O. NUMBER ON ALL CORRESPONDENCE AND PACKAGES

P700032

VENDOR GUARANTEES MERCHANDISE DELIVERED ON THIS ORDER WILL MEET OR EXCEED SPECIFICATIONS IN THE BID

ALL TERMS AND CONDITIONS SET FORTH IN THE BID INVIATION BECOME A PART OF THIS ORDER.

Vendor:

T0000171500 S T M MIDDLE EAST LLC SUITE NO: 212 AL QIYADAH BUILDING NEXT TO GALADARI MAZDA SHOR RM DUBAI UNITED ARAB EMIRATES

TEXAS A&M UNIVERSITY TEXAS A&M UNIVERSITY @ QATAR C/O QATAR FOUNDATION EDUCATION CITY P. O. BOX 23874 DOHA 00000 Ship To: TEXAS A&M UNIVERSITY TEXAS A&M UNIVERSITY AT QATAR C/O QATAR FOUNDATION EDUCATION CITY DOHA, QATAR 00000 QATAR

Invoice To:

ANY EXCEPTIONS TO PRICING OR DESCRIPTION CONTAINED HEREIN MUST BE APPROVED BY THE TEXAS A&M DEPARTMENT OF PROCUREMENT SERVICES PRIOR PLEASE NOTE: IF YOUR INVOICE IS NOT ADDRESSED AS INSTRUCTED PAYMENT WILL BE DELAYED.

	DESCRIPTION	QUANTITY	UOM	UNIT PRICE	EXTENDED PRICE
ITEM	DESCRIPTION  Course: STLC 289 ISBN: 9781594746031 AUTHOR: RANSOM RIGGS PUBLISHER: QUIRK BOOKS	QUAINTIFI		and the second	
60	READING AND VOCABULARY FOCUS 3 Course: STLC 289 ISBN: 9781285173368 AUTHOR: JESSICA WILLIAMS PUBLISHER: HEINLE ELT	20	EA	. 46.500	930.00
61	INTERCULTURAL COMMUNICATION CONTEXTS Course: COMM 335 ISBN: 9780071318242 AUTHOR: MARTIN / NAKAYAMA PUBLISHER: MCGRAW HILL	55	EA	89.000	4,895.00
62	WRITING ABOUT WRITING: A COLLEGE READER Course: ENGL 104 ISBN: 9781457636943 AUTHOR: ELIZABETH WARDLE AND DOUG DOWNS PUBLISHER: BEDFORD/ST. MARTINS	55	EA	66.150	3,638.25
63	THEY SAY I SAY Course: ENGL 104 ISBN: 9780393617443 AUTHOR: GERALD GRAFF; CATHY BIRKENSTEIN; BUSSEL DURST PUBLISHER: W. W. NORTON & COMPANY	60	EA	52.920	3,175.20
64	WRITING ABOUT WRITING: A COLLEGE READER Course: ENGL 104 ISBN: 9781457636943 AUTHOR: ELIZABETH WARDLE AND DOUG DOWNS PUBLISHER: BEDFORD/ ST. MARTINS	25	EA	66.150	1,653.75
PAW					·

FOB: NOT SPECIFIED

Texas A&M University cannot accept collect freight shipments.

FAILURE TO DELIVER - If the vendor fails to deliver these supplies by the promised delivery date or a reasonable time thereafter, without giving acceptable reasons for delay, or if supplies are rejected for failure to meet specifications, the State reserves the right to purchase specified supplies elsewhere, and charge the increase in price and cost of handling, if any, to the vendor. No substitutions or cancellations permitted without prior approval of the Texas A&M Department of Procurement

The State of Texas is exempt from all Federal Excise Taxes.

STATE AND CITY SALES TAX EXEMPTION CERTIFICATE: The undersigned claims an exemption from taxes under Chapter 20, Title 122A, Revised Civil Statutes of Texas, for purchase of tangible personal property described in this numbered order, purchased from contractor and/or shipper listed above, as this property is being secured for the exclusive use of the State of Texas. Terms:

N 30

IN ACCORDANCE WITH YOUR BID, SUPPLIES/EQUIPMENT MUST BE PLACED IN THE DEPARTMENT RECEIVING ROOM BY:

This Order is not valid unless signed by the Purchasing Agent.

FILE COPY

College Station, TX 77843-1477

#### PURCHASE ORDER

11/15/2016 Page:

Order Date:

INCLUDE P.O. NUMBER ON ALL CORRESPONDENCE AND PACKAGES

P700032

ALL TERMS AND CONDITIONS SET FORTH IN THE BID INVIATION BECOME A PART OF THIS ORDER.

Vendor:

T0000171500 S T M MIDDLE EAST LLC SUITE NO: 212 AL QIYADAH BUILDING NEXT TO GALADARI MAZDA SHOR RM DUBAI UNITED ARAB EMIRATES

VENDOR GUARANTEES MERCHANDISE DELIVERED ON THIS ORDER WILL MEET OR EXCEED SPECIFICATIONS IN THE BID INVITATION.

DOHA 00000

Ship To:

Invoice To:

TEXAS A&M UNIVERSITY TEXAS A&M UNIVERSITY AT QATAR C/O QATAR FOUNDATION EDUCATION CITY DOHA, QATAR 00000 **QATAR** 

TEXAS A&M UNIVERSITY

TEXAS A&M UNIVERSITY

C/O QATAR FOUNDATION EDUCATION CITY P. O. BOX 23874

ANY EXCEPTIONS TO PRICING OR DESCRIPTION CONTAINED HEREIN MUST BE APPROVED BY THE TEXAS A&M DEPARTMENT OF PROCUREMENT SERVICES PRIOR PLEASE NOTE: IF YOUR INVOICE IS NOT ADDRESSED AS INSTRUCTED PAYMENT WILL BE DELAYED.

TO SHIF	DESCRIPTION	OUANTITY	UOM	UNIT PRICE	EXTENDED PRICE
65	THE ESSENTIALS OF TECHNICAL COMMUNICATION Course: ENGL 210 ISBN: 9780199379996 AUTHOR: ELIZABETH TEBEAUX, SAM DRAGGA PUBLISHER: OXFORD	55	EA	57.330	3,153.15
66	SERVICE LEARNING: ENGINEERING IN YOUR COMMUNITY Course: ENGL 210 ISBN: 9780199922048 AUTHOR: MARYBETH LIMA AND WILLIAM C. OAKES PUBLISHER: OXFORD UNIVERSITY PRESS	55	EA	46.850	2,576.75
67	VISUAL AND STATISTICAL THINKING: DISPLAYS OF EVIDENCE FOR MAKING DECISIONS Course: ENGL 210 ISBN: 9780961392130 AUTHOR: EDWARD TUFTE PUBLISHER: GRAPHICS PRESS	10	EA	7,330	73.30
68	20TH CENTURY GHOSTS Course: ENGL 219 ISBN: 9780061147982 AUTHOR: JOE HILL PUBLISHER: PS PUBSLISHING	30	EA	13.990	419.70
69	THE CRAZED Course: ENGL 219 ISBN: 9780375714115 AUTHOR: HA JIN PUBLISHER: PANTHEON	30	EA	12.600	378.00
70	UNDERSTANDING COMICS Course: ENGL 219 ISBN: 9780060976255 AUTHOR: SCOTT MCCLOUD	30	EA	22.000	660.00
PAW				Towns	

FOB: NOT SPECIFIED

Texas A&M University cannot accept collect freight shipments.

FAILURE TO DELIVER - If the vendor fails to deliver these supplies by the promised delivery date or a reasonable time thereafter, without giving acceptable reasons for delay, or if supplies are rejected for failure to meet specifications, the State reserves the right to purchase specified supplies elsewhere, and charge the increase in price and cost of handling, if any, to the vendor. No substitutions or cancellations permitted without prior approval of the Texas A&M Department of Procurement

The State of Texas is exempt from all Federal Excise Taxes.

STATE AND CITY SALES TAX EXEMPTION CERTIFICATE: The undersigned claims an exemption from taxes under Chapter 20, Title 122A, Revised Civil Statutes of Texas, for purchase of tangible personal property described in this numbered order, purchased from contractor and/or shipper listed above, as this property is being secured for the exclusive use of the State of Texas. Terms:

Ν 3.0

IN ACCORDANCE WITH YOUR BID, SUPPLIES/EQUIPMENT MUST BE PLACED IN THE DEPARTMENT RECEIVING ROOM BY:

This Order is not valid unless signed by the Purchasing Agent.

FILE COPY

#### College Station, TX 77843-1477 PURCHASE ORDER

Order Date: 11/15/2016

Page:

INCLUDE P.O. NUMBER ON ALL CORRESPONDENCE AND PACKAGES

P700032

VENDOR GUARANTEES MERCHANDISE DELIVERED ON THIS ORDER WILL MEET OR EXCEED SPECIFICATIONS IN THE BID

ALL TERMS AND CONDITIONS SET FORTH IN THE BID INVIATION BECOME A PART OF THIS ORDER.

Vendor:

T0000171500 S T M MIDDLE EAST LLC SUITE NO: 212 AL QIYADAH BUILDING NEXT TO GALADARI MAZDA SHOR RM DUBAI UNITED ARAB EMIRATES

Invoice To:

TEXAS A&M UNIVERSITY TEXAS A&M UNIVERSITY @ QATAR C/O QATAR FOUNDATION EDUCATION CITY P. O. BOX 23874

DOHA 00000

Ship To:

TEXAS A&M UNIVERSITY TEXAS A&M UNIVERSITY AT QATAR C/O QATAR FOUNDATION EDUCATION CITY DOHA, QATAR 00000 QATAR

ANY EXCEPTIONS TO PRICING OR DESCRIPTION CONTAINED HEREIN MUST BE APPROVED BY THE TEXAS A&M DEPARTMENT OF PROCUREMENT SERVICES <u>PRIOR</u>

PLEASE NOTE: IF YOUR INVOICE IS NOT ADDRESSED AS INSTRUCTED PAYMENT WILL BE DELAYED.

10 SHIF				UNIT PRICE	EXTENDED PRICE
ITEM	DESCRIPTION	QUANTITY	UOM	UNIT PRICE	EXTENDED FRICE
	PUBLISHER: WILLIAM MORROW PAPERBACKS		·		
71	THE WHITE TIGER	30	EA	15.000	450.00
	Course: ENGL 219 ISBN: 9781416562603				
	AUTHOR: ARAVIND ADIGA PUBLISHER: FREE PRESS		-		
				10.500	555.00
72	THE SANDMAN VOL 1 Course: ENGL 219	30	EA	18.500	355.00
	ISBN: 9781401225759				
	AUTHOR: NEIL GAIMAN PUBLISHER: VERTIGO			·	
73	THE PHOTOGRAPHER	30	EA	32.500	975.00
/3	Course: ENGL 219				
	ISBN: 978-1596433755 AUTHOR: EMMANUEL GUIBERT				
	PUBLISHER: FIRST SECOND				
74	FILM ART	65	EA	140.000	9,100.00
	Course: ENGL 251 ISBN: 9781259534959	,			
	AUTHOR: BORDWELL & THOMPSON				
	PUBLISHER: MCGRAW HILL			1	
75	NARRATIVE OF THE LIFE OF FREDERICK DOUGLASS:	70	EA	17.000	1,190.00
	AN AMERICAN SLAVE, WRITTEN BY HIMSELF Course: HIST 105				
	ISBN: 9780312257378 AUTHOR: FREDERICK DOUGLASS				
	PUBLISHER: BEDFORD/ST. MARTIN'S				
76	AMERICAN POLITICS TODAY (FULL FOURTH EDITION)	40	EA	137,550	5,502.00
	Course: POLS 206 ISBN: 9780393937008				
	TODN: 9/0039393/000				
PAW					
ı			L	T	

FOB: NOT SPECIFIED

Texas A&M University cannot accept collect freight shipments.

FAILURE TO DELIVER - If the vendor fails to deliver these supplies by the promised delivery date or a reasonable time thereafter, without giving acceptable reasons for delay, or if supplies are rejected for failure to meet specifications, the State reserves the right to purchase specified supplies elsewhere, and charge the increase in price and cost of handling, if any, to the vendor. No substitutions or cancellations permitted without prior approval of the Texas A&M Department of Procurement

The State of Texas is exempt from all Federal Excise Taxes.

STATE AND CITY SALES TAX EXEMPTION CERTIFICATE: The undersigned claims an exemption from taxes under Chapter 20, Title 122A, Revised Civil Statutes of Texas, for purchase of tangible personal property described in this numbered order, purchased from contractor and/or shipper listed above, as this property is being secured for the exclusive use of the State of Texas. Terms:

N 30

IN ACCORDANCE WITH YOUR BID, SUPPLIES/EQUIPMENT MUST BE PLACED IN THE DEPARTMENT RECEIVING ROOM BY:

This Order is not valid unless signed by the Purchasing Agent.

FILE COPY

#### College Station, TX 77843-1477 PURCHASE ORDER

Order Date: 11/15/2016

15 Page:

INCLUDE P.O. NUMBER ON ALL CORRESPONDENCE AND PACKAGES

P700032

DELIVERED ON THIS ORDER WILL MEET OR EXCEED SPECIFICATIONS IN THE BID

Vendor:

T0000171500 S T M MIDDLE EAST LLC SUITE NO: 212 AL QIYADAH BUILDING NEXT TO GALADARI MAZDA SHOR RM DUBAI UNITED ARAB EMIRATES

VENDOR GUARANTEES MERCHANDISE

ALL TERMS AND CONDITIONS SET FORTH IN THE BID INVIATION BECOME A PART OF THIS ORDER.

Invoice To: TEXAS A&M UNIVERSITY TEXAS A&M UNIVERSITY @ QATAR C/O OATAR FOUNDATION EDUCATION CITY P. O. BOX 23874 DOHA 00000 Ship To: TEXAS A&M UNIVERSITY TEXAS A&M UNIVERSITY AT QATAR C/O QATAR FOUNDATION EDUCATION CITY DOHA, QATAR 00000 QATAR

ANY EXCEPTIONS TO PRICING OR DESCRIPTION CONTAINED HEREIN MUST BE APPROVED BY THE TEXAS A&M DEPARTMENT OF PROCUREMENT SERVICES <u>PRIOR</u>

PLEASE NOTE: IF YOUR INVOICE IS NOT ADDRESSED AS INSTRUCTED PAYMENT WILL BE DELAYED.

ITEM	DESCRIPTION	OUANTITY	UOM	UNIT PRICE	EXTENDED PRICE
77	AUTHOR: WILLIAM T. BIANCO; DAVID T. CANON PUBLISHER: WW. NORTON CO  DEMOCRACY IN AMERICA Course: POLS 206 ISBN: 9780872204942 AUTHOR: ALEXIS DE TOCQUEVILLE; SAN FORD	40	EA	13.130	525.20
	KESSLER (EDITOR) PUBLISHER: HACKETT PUBLISHING COMPANY, INC				. 500 50
78	ENGINEERING ETHICS: CONCEPTS AND CASES Course: ENGR 482 ISBN: 9781133935209 AUTHOR: CHARLES E.HARRIS, MICHAEL S.PRITCHARD MICHAEL J. RABINS, RAY JAMES ELAINE ENGLEHARDT PUBLISHER: WADSWORTH	65	EA	132.300	8,599.50
79	EXPERIMENTS IN GENERAL CHEMISTRY Course: CHEM 112 ISBN: 9781285433172 AUTHOR: M. LARRY PECK, AND VICKIE M. WILLIAMS PUBLISHER: DUXBURY PRESS	30	EA	111.350	3,340.50
80	CHEM 117 - LABORATORY MANUAL (PACKAGED WITH STUDENT LAB NOTEBOOK) Course: CHEM 117 ISBN: 9780738074856 PUBLISHER: HAYDEN MCNEIL	60	EA	39.690	2,381.40
81	ORGANIC CHEMISTRY (1 OF 3) Course: CHEM 228 ISBN: 9780840054531 AUTHOR: JOHN E. MCMURRY PUBLISHER: BROOKS/COLE	25	EA	225.720	5,643.00
PAW					

FOB: NOT SPECIFIED

Texas A&M University cannot accept collect freight shipments.

FAILURE TO DELIVER - If the vendor fails to deliver these supplies by the promised delivery date or a reasonable time thereafter, without giving acceptable reasons for delay, or if supplies are rejected for failure to meet specifications, the State reserves the right to purchase specified supplies elsewhere, and charge the increase in price and cost of handling, if any, to the vendor. No substitutions or cancellations permitted without prior approval of the Texas A&M Department of Procurement

The State of Texas is exempt from all Federal Excise Taxes.

STATE AND CITY SALES TAX EXEMPTION CERTIFICATE: The undersigned claims an exemption from taxes under Chapter 20, Title 122A, Revised Civil Statutes of Texas, for purchase of tangible personal property described in this numbered order, purchased from contractor and/or shipper listed above, as this property is being secured for the exclusive use of the State of Texas. Terms:

30

IN ACCORDANCE WITH YOUR BID, SUPPLIES/EQUIPMENT MUST BE PLACED IN THE DEPARTMENT RECEIVING ROOM BY:

This Order is not valid unless signed by the Purchasing Agent.

FILE COPY

#### College Station, TX 77843-1477 PURCHASE ORDER

Invoice To:

Order Date: 11/15/2016

16 Page:

INCLUDE P.O. NUMBER ON ALL CORRESPONDENCE AND PACKAGES

P700032

VENDOR GUARANTEES MERCHANDISE DELIVERED ON THIS ORDER WILL MEET OR EXCEED SPECIFICATIONS IN THE BID

Vendor:

T0000171500 S T M MIDDLE EAST LLC SUITE NO: 212 AL QIYADAH BUILDING NEXT TO GALADARI MAZDA SHOR RM DUBAI UNITED ARAB EMIRATES

ALL TERMS AND CONDITIONS SET FORTH IN THE BID INVIATION BECOME A PART OF THIS ORDER.

TEXAS A&M UNIVERSITY TEXAS A&M UNIVERSITY @ QATAR C/O QATAR FOUNDATION EDUCATION CITY P. O. BOX 23874 DOHA 00000 Ship To: TEXAS A&M UNIVERSITY TEXAS A&M UNIVERSITY AT QATAR C/O QATAR FOUNDATION EDUCATION CITY DOHA, QATAR 00000 OATAR

ANY EXCEPTIONS TO PRICING OR DESCRIPTION CONTAINED HEREIN MUST BE APPROVED BY THE TEXAS A&M DEPARTMENT OF PROCUREMENT SERVICES  $\underline{\textbf{PRIOR}}$ TO SHIPPING.

PLEASE NOTE: IF YOUR INVOICE IS NOT ADDRESSED AS INSTRUCTED PAYMENT WILL BE DELAYED.

TO SHIP				I TOTAL DOLLAR	EXTENDED PRICE
ITEM	DESCRIPTION	QUANTITY	UOM	UNIT PRICE	
82	STUDY GUIDE WITH SOLUTIONS MANUAL FOR MCMURRY'S ORGANIC CHEMISTRY (2 OF 3) Course: CHEM 228 ISBN: 9780840054555 ( 3 available) AUTHOR: JOHN E. MCMURRY PUBLISHER: BROOKS/COLE	25	EA	137.810	3,445.25
83	ORGANIC CHEMISTRY LABORATORY MANUAL (1 OF 2) Course: CHEM 238 ISBN: 9781133446392 AUTHOR: BEVERLY A. CLEMENT, KENN E. HARDING PUBLISHER: CENGAGE LEARNING	20	EA	105.330	2,106.60
84	STUDENT LAB NOTEBOOK: 100 TOP BOUND DUPLICATE PAGES (2 OF 2) Course: CHEM 238 ISBN: 9781930882003 PUBLISHER: HAYDEN-MCNEIL	20	EA	19.850	397.00
85	PHYSICAL CHEMISTRY Course: CHEM 322 ISBN: 9780471215042 AUTHOR: ROBERT J. SILBEY, ROBERT A. ALBERTY, MOUNGI G. BAWENDI PUBLISHER: WILEY	10	EA	322.480	3,224.80
86	POLYMER CHEMISTRY: AN INTRODUCTION Course: CHEM 466 ISBN: 9780195124446 AUTHOR: MALCOLM P. STEVENS PUBLISHER: OXFORD UNIVERSITY PRESS	15	EA	143.330	2,149.95
87	PRECALCULUS WITH LIMITS Course: MATH 150 ISBN: 9781133954606 AUTHOR: RON LARSON, DAVID C. FALVO	80	EA	50.940	4,075.20
PAW					

FOB: NOT SPECIFIED

Texas A&M University cannot accept collect freight shipments.

FAILURE TO DELIVER – If the vendor fails to deliver these supplies by the promised delivery date or a reasonable time thereafter, without giving acceptable reasons for delay, or if supplies are rejected for failure to meet specifications, the State reserves the right to purchase specified supplies elsewhere, and charge the increase in price and cost of handling, if any, to the vendor. No substitutions or cancellations permitted without prior approval of the Texas A&M Department of Procurement Services.

The State of Texas is exempt from all Federal Excise Taxes.

Chapter 20, Title 122A, Revised Civil Statutes of Texas, for purchase of tangible personal property described in this numbered order, purchased from contractor and/or shipper listed above, as this property is being secured for the exclusive use of the State of Texas.

Terms:

IN ACCORDANCE WITH YOUR BID, SUPPLIES/EQUIPMENT MUST BE PLACED IN THE DEPARTMENT RECEIVING ROOM BY:

This Order is not valid unless signed by the Purchasing Agent.

FILE COPY

### College Station, TX 77843-1477

### PURCHASE ORDER

Order Date: 11/15/2016

17 Page:

INCLUDE P.O. NUMBER ON ALL CORRESPONDENCE AND PACKAGES

P700032

VENDOR GUARANTEES MERCHANDISE DELIVERED ON THIS ORDER WILL MEET OR EXCEED SPECIFICATIONS IN THE BID

ALL TERMS AND CONDITIONS SET FORTH IN THE BID INVIATION BECOME A PART OF THIS ORDER.

Vendor:

T0000171500 S T M MIDDLE EAST LLC SUITE NO: 212 AL QIYADAH BUILDING NEXT TO GALADARI MAZDA SHOR RM DUBAI UNITED ARAB EMIRATES

Invoice To: TEXAS A&M UNIVERSITY TEXAS A&M UNIVERSITY @ QATAR C/O QATAR FOUNDATION EDUCATION CITY P. O. BOX 23874 DOHA 00000 Ship To: TEXAS A&M UNIVERSITY TEXAS A&M UNIVERSITY AT QATAR C/O QATAR FOUNDATION EDUCATION CITY DOHA, QATAR 00000 QATAR

ANY EXCEPTIONS TO PRICING OR DESCRIPTION CONTAINED HEREIN MUST BE APPROVED BY THE TEXAS A&M DEPARTMENT OF PROCUREMENT SERVICES **PRIOR** 

PLEASE NOTE: IF YOUR INVOICE IS NOT ADDRESSED AS INSTRUCTED PAYMENT WILL BE DELAYED.

	PPING.				The state of the s
ITEM	DESCRIPTION	QUANTITY	UOM	UNIT PRICE	EXTENDED PRICE
	PUBLISHER: BROOKS/COLE				
88	CALCULUS: EARLY VECTORS (1 OF 3) Course: MATH 151 ISBN: 9780534493486 AUTHOR: JAMES STEWART PUBLISHER: CENGAGE LEARNING	60	EA	187.420	11,245.20
89	MATLAB:AN INTRODUCTION WITH APPLICATIONS (2 OF 3) Course: MATH 151 ISBN: 9781118629864 AUTHOR: AMOS GILAT PUBLISHER: WILEY	80	EA	220.000	17,600.00
90	STUDENT SOLUTIONS MANUAL FOR STEWART'S CALCULUS: EARLY VECTORS (3 OF 3) Course: MATH 151 ISBN: 9780534359522 AUTHOR: I. STEWART, J. STEWART, J. A. COLE, D. DRUCKER, D. ANDERSON PUBLISHER: CENGAGE LEARNING	80	EA	50.930	4,074.40
91	ELEMENTARY DIFFERENTIAL EQUATIONS Course: MATH 308 ISBN: 9781118323618 AUTHOR: WILLIAM E. BOYCE, RICHARD C. DIPRIMA PUBLISHER: WILEY	90	EA	236.250	21,262.50
92	A FIRST COURSE IN WAVELETS WITH FOURIER ANALYSIS Course: MATH 414 ISBN: 9780470431177 PUBLISHER: WILEY	29	EA	107.480	3,116.92
93	POWER SYSTEM ANALYSIS AND DESIGN	15	EA	86.000	1,290.00
PAW					

FOB: NOT SPECIFIED

Texas A&M University cannot accept collect freight shipments.

FAILURE TO DELIVER - If the vendor fails to deliver these supplies by the promised delivery date or a reasonable time thereafter, without giving acceptable reasons for delay, or if supplies are rejected for failure to meet specifications, the State reserves the right to purchase specified supplies elsewhere, and charge the increase in price and cost of handling, if any, to the vendor. No substitutions or cancellations permitted without prior approval of the Texas A&M Department of Procurement

The State of Texas is exempt from all Federal Excise Taxes.

STATE AND CITY SALES TAX EXEMPTION CERTIFICATE: The undersigned claims an exemption from taxes under Chapter 20, Title 122A, Revised Civil Statutes of Texas, for purchase of tangible personal property described in this numbered order, purchased from contractor and/or shipper listed above, as this property is being secured for the exclusive use of the State of Texas. Terms:

IN ACCORDANCE WITH YOUR BID, SUPPLIES/EQUIPMENT MUST BE PLACED IN THE DEPARTMENT RECEIVING ROOM BY:

This Order is not valid unless signed by the Purchasing Agent.

FILE COPY

College Station, TX 77843-1477

#### **PURCHASE ORDER**

Page:

18

Order Date: 11/15/2016

INCLUDE P.O. NUMBER ON ALL CORRESPONDENCE AND PACKAGES

P700032

VENDOR GUARANTEES MERCHANDISE DELIVERED ON THIS ORDER WILL MEET OR EXCEED SPECIFICATIONS IN THE BID INVITATION.

ALL TERMS AND CONDITIONS SET FORTH IN THE BID INVIATION BECOME A PART OF THIS ORDER.

Vendor:

T0000171500 S T M MIDDLE EAST LLC SUITE NO: 212 AL QIYADAH BUILDING NEXT TO GALADARI MAZDA SHOR RM DUBAI UNITED ARAB EMIRATES

Invoice To: TEXAS A&M UNIVERSITY TEXAS A&M UNIVERSITY @ QATAR C/O QATAR FOUNDATION EDUCATION CITY P. O. BOX 23874 DOHA 00000 Ship To:

TEXAS A&M UNIVERSITY TEXAS A&M UNIVERSITY AT QATAR C/O QATAR FOUNDATION EDUCATION CITY DOHA, QATAR 00000 QATAR

ANY EXCEPTIONS TO PRICING OR DESCRIPTION CONTAINED HEREIN MUST BE APPROVED BY THE TEXAS A&M DEPARTMENT OF PROCUREMENT SERVICES <u>PRIOR</u> TO SHIPPING.

PLEASE NOTE: IF YOUR INVOICE IS NOT ADDRESSED AS INSTRUCTED PAYMENT WILL BE DELAYED.

ITEM	DESCRIPTION	QUANTITY	UOM	UNIT PRICE	EXTENDED PRICE
94	Course: ECEN 459 ISBN: 9781111425791 AUTHOR: GLOVER PUBLISHER: CENGAGE LEARNING TRANSPORT PHENOMENA Course: CHEN 629	25	EA	281.140	7,028.50
	ISBN: 9780470115398 AUTHOR: R. BYRON BIRD, WARREN E. STEWART, EDIN N. LIGHTFOOT PUBLISHER: WILEY			:	
95	ON COURSE: STRATEGIES FOR CREATING SUCCESS IN COLLEGE AND LIFE Course: STLC 101 ISBN: 9781305397484 AUTHOR: SKIP DOWNING PUBLISHER: WADSWORTH	30	EA	82.500	2,475.00
96	ELEMENTARY FLUID MECHANICS Course: MEEN 344 ISBN: 9780471013105 AUTHOR: GARY WATTERS PUBLISHER: WILEY	18	EA	312.550	5,625.90
97	AN INTRODUCTION TO THE FINITE ELEMENT METHOD Course: MEEN 444 ISBN: 9780071267618 AUTHOR: J.N. REDDY PUBLISHER: MCGRAW HILL	10	EA	88.200	882.00
98	UNIVERSITY PHYSICS WITH MODERN PHYSICS ISBN: 9781784486426 AUTHOR: YOUNG PUBLISHER: PEARSON REMARKS: VITAL SOURCE E-BOOK	220	EA	80.000	17,600.00
PAW	· · · · · · · · · · · · · · · · · · ·				

FOB: NOT SPECIFIED

Texas A&M University cannot accept collect freight shipments.

FAILURE TO DELIVER - If the vendor fails to deliver these supplies by the promised delivery date or a reasonable time thereafter, without giving acceptable reasons for delay, or if supplies are rejected for failure to meet specifications, the State reserves the right to purchase specified supplies elsewhere, and charge the increase in price and cost of handling, if any, to the vendor. No substitutions or cancellations permitted without prior approval of the Texas A&M Department of Procurement Services.

The State of Texas is exempt from all Federal Excise Taxes.

STATE AND CITY SALES TAX EXEMPTION CERTIFICATE: The undersigned claims an exemption from taxes under Chapter 20, Title 122A, Revised Civil Statutes of Texas, for purchase of tangible personal property described in this numbered order, purchase from contractor and/or shipper listed above, as this property is being secured for the exclusive use of the State of Texas. Terms:

30

IN ACCORDANCE WITH YOUR BID, SUPPLIES/EQUIPMENT MUST BE PLACED IN THE DEPARTMENT RECEIVING ROOM BY:

This Order is not valid unless signed by the Purchasing Agent.

FILE COPY

# College Station, TX 77843-1477 PURCHASE ORDER

Order Date: 11/15/2016

Page: 19

INCLUDE P.O. NUMBER ON ALL CORRESPONDENCE AND PACKAGES

P700032

VENDOR GUARANTEES MERCHANDISE DELIVERED ON THIS ORDER WILL MEET OR EXCEED SPECIFICATIONS IN THE BID INVITATION

ALL TERMS AND CONDITIONS SET FORTH IN THE BID INVIATION BECOME A PART OF THIS ORDER.

Vendor:

T0000171500 S T M MIDDLE EAST LLC SUITE NO: 212 AL QIYADAH BUILDING NEXT TO GALADARI MAZDA SHOR RM DUBAI UNITED ARAB EMIRATES Invoice To:

TEXAS A&M UNIVERSITY
TEXAS A&M UNIVERSITY @ QATAR
C/O QATAR FOUNDATION
EDUCATION CITY
P. O. BOX 23874

Ship To:

DOHA 00000

TEXAS A&M UNIVERSITY
TEXAS A&M UNIVERSITY AT QATAR
C/O QATAR FOUNDATION
EDUCATION CITY
DOHA, QATAR 00000
QATAR

ANY EXCEPTIONS TO PRICING OR DESCRIPTION CONTAINED HEREIN MUST BE APPROVED BY THE TEXAS A&M DEPARTMENT OF PROCUREMENT SERVICES <u>PRIOR</u> TO SHIPPING.

PLEASE NOTE: IF YOUR INVOICE IS NOT ADDRESSED AS INSTRUCTED PAYMENT WILL BE DELAYED.

ITEM	DESCRIPTION	QUANTITY	UOM	UNIT PRICE	EXTENDED PRICE
99	ELEMENTARY PRINCIPLES OF CHEMICAL PROCESSES ISBN: 978119249214 (GLOBAL ED. E-TEXT) AUTHOR: FELDER PUBLISHER: WILEY	15	EA	65.000	975.00
100	FREIGHT FOR UNDERGRAD BOOKS - DAP, DOOR TO DOOR AT TAMUQ INCL CUSTOMS CLEARANCE. EDUCATIONAL BOOKS ARE EXEMPT FROM DUTIES_AND TAXES. COMMERCIAL INVOICE MUST STATE HARMONIZE CODE # 49019930.	2,975	EA	7.500	22,312.50
101	FREIGHT FOR GRAD BOOKS - DAP, DOOR TO DOOR AT TAMUQ INCL CUSTOMS CLEARANCE. EDUCATIONAL BOOKS ARE EXEMPT FROM DUTIES & TAXES. COMMERCIAL INVOICE MUST STATE HARMONIZE CODE #49019930.	.65	EA	7.500	487.50
·				TOTAL	364,190.95
	VENDOR REF: VIBHORE JAIN				
	CC FY ACCOUNT NO. DEPT.				
	02 2017 470172-99000-5765 QASV 02 2017 483172-99000-5765 QASV			352,358.70 11,832.25	
İ	DOCUMENT DATE: 11/15/2016				. :
	DEPT.CONTACT: NAKIA MUSTAFA PHONE NO.:				
	PCC CD:				
	TYPE FUND: L TYPE ORDER: HIED				
PAW					
PAW					

FOB: NOT SPECIFIED

Texas A&M University cannot accept collect freight shipments.

FAILURE TO DELIVER – If the vendor fails to deliver these supplies by the promised delivery date or a reasonable time thereafter, without giving acceptable reasons for delay, or if supplies are rejected for failure to meet specifications, the State reserves the right to purchase specified supplies elsewhere, and charge the increase in price and cost of handling, if any, to the vendor. No substitutions or cancellations permitted without prior approval of the Texas A&M Department of Procurement

The State of Texas is exempt from all Federal Excise Taxes.

STATE AND CITY SALES TAX EXEMPTION CERTIFICATE: The undersigned claims an exemption from taxes under Chapter 20, Title 122A, Revised Civil Statutes of Texas, for purchase of tangible personal property described in this numbered order, purchased from contractor and/or shipper listed above, as this property is being secured for the exclusive use of the State of Texas.

Terms:

N 30.

IN ACCORDANCE WITH YOUR BID, SUPPLIES/EQUIPMENT MUST. BE PLACED IN THE DEPARTMENT RECEIVING ROOM BY:

This Order is not valid unless signed by the Purchasing Agent.